SOLVING SIMULTANEOUS EQUATIONS GRAPHICALLY
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13 (@) () Sketchthe graph of y = 2.

Y

o g

(i) Sketch the graph of y = x+1,

7

(i) Cerisays that the graphs of y =2 and y = x-+1 cross al the point (2, 3)

Explain the error in her answer.
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(b) Oliver has sketched the graph of

Make two comments about the accuracy of his sketch,
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24 The graph shows two parallel lines, Line A and Line B.

Line A

Line B Not to scale.

9

Line Ahas equation y= 6x+7.
Line B passes through the point (4, 26).

Find the equation of Line B.
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17 (@) On the same grid,draw the graph of y=x+1 forvalues of xfrom 0105
[2marks]

17 (b)  Use the graphs to solve the simultaneous equations

y=5-x and y=x+1
[1 mark]
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Sx -9y =

(a) Use these graphs to solve the simultancous equations

Sy 9y=—46
y=-2c
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(b) Use this graph to find estimates for the solutions of the quadratic equation x* —4x +2 =0

@

(Total for Question 28 is 3 marks)
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(c) Write down the x-coordinates of the points where y=x" —x and y=x+1 cross.

© x= and x=
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22 (a) Complete thistable for y=x"~x

x 2 o 1 2 B
y 6 o 2 6
2
() The graph of = +1is shown on the grid
On the same grid, use part (a) to draw the graph a:\HxNWx for values of x from -2 to 3.
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